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20219 =AAIHSAH(SZ) 20 XAS0LA SZE
(S ER)
=g A=
= 21. 20 & 20.1xF=3& 5 -4 u= 21. 20 & 20.1xF=3& 52 -4
=2+ 2,187,100 1,937,100 250,000(37.59%| 2 == 129,000 124,000 5,000 2.22%
Ol20l At 86,100 86,100 0] 1.48% MRAS 129,000 124,000 5,000 2.22%
JIEt =2l ¢ 1,000 1,000 0| 0.02%|&tcl 2| 746,600 722,100 24,500 12.83%
=T o= 2,100,000 1,850,000 250,000(36. 10% Al 2tedl 344,000 334,500 9,500 5.91%
S EHR A2 2 0 0 0] 0.00% 2okt | 321,400 306,400 15,000 5.52%
S A=Y 0 0 0] 0.00% 23l 81,200 81,200 0 1.40%
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4420 JIEtDRAHI2 1,151,000 959,000 192,000
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(e g)&A01,000,0002*138]= 1,000,000
(&8 A 1,000,000
4422 HE 210} 1,150,000 958,000 192,000
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(=220 0l HIHl:30,000,0002 «15]= 30,000,000
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(8 A 22,000,000
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(& A 1,000
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